Tva9 /P EYU—X

§ 45°T)U5R

@IJHAX
#EA T F HX ¢
T - I O O I 4 B I N ot g B
(mm) | (MR) | (mm) | (mm) | (mm) | (mm) (mm) (mm) | (mm) | (mm) | (mm?) | (q)
E45L4-M5 4 M5X0.8 | 197 34.4 4.0 13 10.0X11.0 9.8 2.0 2.0 3.0 7.0
E45L4-PT1/8 4 R1/8 19.7 36.9 8.0 13 10.0X11.0 9.8 5.0 3.0 4.0 9.0
- s E45L4-PT1/4 4 R1/4 21.9 40.9 1.0 13 14.0X15.4 9.8 7.0 3.0 40 | 160
S, E45L6-M5 6 M5X0.8 | 22.4 38.6 40 15 12.0X13.0 126 | 20 2.0 35 | 100
g E45L6-PT1/8 6 R1/8 224 411 8.0 15 12.0X13.0 126 | 50 50 | 120 | 120
E45L6-PT1/4 6 R1/4 23.6 451 11.0 15 14.0X15.4 126 | 70 50 | 120 | 180
E45L6-PT3/8 6 R3/8 252 46.1 12.0 15 17.0X18.5 126 | 9.0 50 | 120 | 260
Ls E45L8-PT1/8 8 R1/8 255 44.0 8.0 16 14.0X15.4 146 | 50 50 | 185 | 150
« % E45L8-PT1/4 8 R1/4 255 48.0 11.0 16 14.0X15.4 146 | 70 70 | 2380 | 200
E45L8-PT3/8 8 R3/8 27.0 49.0 12,0 16 17.0X18.5 146 | 9.0 70 | 230 | 280
< P E45L10-PT1/8 10 R1/8 30.0 50.0 8.0 19 17.0X18.5 175 | 50 50 | 220 | 220
0 E45L10-PT1/4 10 R1/4 30.0 54.0 11.0 19 17.0X18.5 175 | 70 70 | 345 | 270
: E45L10-PT3/8 10 R3/8 30.0 55.0 12,0 19 17.0X18.5 175 | 9.0 90 | 370 | 330
b e E45L10-PT1/2 10 R1/2 33.0 59.0 15.0 19 22.0X24.5 175 | 120 | 9.0 385 | 520
L E45L12-PT1/4 12 R1/4 335 58.7 11.0 20 19.0X21.0 200 | 7.0 70 | 430 | 340
- ﬁ;ETH Hix E45L12-PT3/8 12 R3/8 335 59.7 12.0 20 19.0X21.0 200 | 9.0 90 | 470 | 400
d1‘ : \—iT E45L12-PT1/2 12 R1/2 35.3 63.7 15.0 20 22.0X24.5 200 | 120 | 100 | 470 | 570
M1l
TIh<}
J [T\ gdt
T/ ¢8| \#Hroubfiz
— \ n
| 2= —Y)LTILR
[ RULE P
#A | T F _| HX¢ PR
5O 3‘9211.{%7 *ﬁfbx‘ Lt L2 Ls La A ?;ié% —Eig| N D di |RVAR|FANER| EE
(mm) | (MRB) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | (mm?) | (g)
ELB4-M5 4 |M5X08| 204 | 115 | 253 | 21.0 | 40 | 13 [80Xa0| 30 | 98 | 20 | 20 | 30 | 100
ELB4-PT1/8 4 | RI/8| 234 | 175 | 304 | 300 | 95 | 13 |[130X140| 50 | 98 | 50 | 30 | 40 | 200
ELB6-M5 6 |M5X0.8| 208 | 115 | 256 | 21.0 | 40 | 15 |80Xa0| 3.0 | 126 | 20 | 20 | 35 | 100
ELB6-PT1/8 6 |R1/8| 228 | 175 | 29.8 | 30.0 | 95 | 15 |[130X140| 50 | 126 | 50 | 32 | 80 | 21.0
ELB6-PT1/4 6 | Ri/4 | 248 | 229 | 345 | 375 | 134 | 15 [170X183] 6.0 | 126 | 7.0 | 42 | 90 | 430
ELB8-PT1/8 8 |RI/8| 244 | 175 | 314 | 300 | 95 | 16 |[130X140| 50 | 146 | 50 | 32 | 90 | 41.0
ELB8-PT1/4 8 | Ri/4| 264 | 229 | 361 | 37.5 | 134 | 16 [170X183| 6.0 | 146 | 7.0 | 42 | 145 | 440
Ls ELB8-PT3/8 8 | R3/8 | 284 | 244 | 40.4 | 405 | 139 | 16 [210X226| 80 | 146 | 90 | 60 | 19.0 | 69.0
L1 ELB10-PT1/4 10 | R1/4 | 204 | 229 | 391 | 375 | 134 | 19 |[170X183| 6.0 | 175 | 7.0 | 42 | 155 | 740
h Hxg ELB10-PT3/8 10 | R3/8 | 31.4 | 244 | 434 | 405 | 139 | 19 |[210X226| 80 | 175 | 9.0 | 60 | 230 | 740
i ELB12-PT3/8 12 | R3/8 | 343 | 243 | 483 | 405 | 13.8 | 20 [240X2%60| 80 | 200 | 100 | 80 | 255 | 920
/5 777777 1 ELB12-PT1/2 12 | R1/2 | 343 | 27.3 | 483 | 435 | 168 | 20 |[240X260| 80 | 200 | 120 | 80 | 255 | 100.0
5 A
]
< : : F
$d1 T
MU
h<

/LT gt
T/ |48 \#izryfz

55



